S 3 EEMERYEEERALEER (—RER) —RBKICETOIAEFT TEERK
SM3E3IH24HOKREE
(Rs) 2HH

ERB L OF = X B K
FRAE B % B AR BREN | AEHTIEEMN
B mly % & 8 5 5 5
Jb oA el % & 17 1 1
5wl = ¢ 13 0 - -
s i 29 5
wETer = & 11 7
% T % 7 0 - -
k| = @ 12 5 5 5
5 e % i 4 0 - -
i sl s 4 2 2 2
t o 2 0 - -
Ersmlel @ N 6 16 14 6
mo omlel @ & 8 2 2 2
g oxlal w & 11 1 1 1
g le % & 12 2 2 2
ABHTE|E 8 A 8 2 2 2
Pizg > Sl GV 8 | l |
e i 2 0 - -
AiET#(T| = & 9 4 4 4
m O L ¥ 3 0 - -
gl = 10 12 12 10
Bl R 5 2 2 4
T & 12 4 4
e fElE % i 4 8 8 4
B B % @ 54 16 15 15
2 el % & 10 1 1 1
N 269 96 93 81
(B  sErsl
SR B £ O = X & &
ﬁﬁf%ﬁ 7l £ A B SHER | AEHTTEER
gl H_EE (R 17 3 3 3
B wE (%) 11 1 1
WEHETET K - X 27 0 - -
ERTET M i 31 1 1 1
sEkEH @ & 30 1 1 1
7 le =E (e 31 0 - -
P 147 6 6 6
@ g 416 102 99 87




